MASTRE 2

e bt b

e b ot et

25 GA. MIN EXTERIOR SKIN
v/ G—4D GALVANIZATION

OPTIONAL GLAZING
MIN. 3/32° THICK SSB
s ff

5
[ ey

a1
1

M

= A

@

48°

I 1
94°
49°
SECTION HEIGHT
STRUT SPACING

INSIDE- ELEVATION

SECTION HEIGHT

STRUT SPACING

14 GA. GALV. STEEL
ROLLER HINGES

NYLON OR STEEL

ROLLER W/S* m,_.mvy_
:
e6t—

&) 1/4 * x 3/4°
[—— HEX HEAD UNIV. SCREWS

PER ROLLER BRACKET

TYP. ROLLER BRACKET /ST

i8

INTR. HINGES.

GA. GALV. STEEL

L~

TYP. HINGE CONNECTION /ST\

€4) 1/4 *— 14 x _3/47
HEX HEAD UNIV. SCREWS
PER HINGE

SECTION

x_my_i \

16 GA. GALV. RES. TOP ROLLER BRACKET
ATTACHED W/ (2) 1/4° x 3/4"

HEX HEAD UNIV. SCREWS

ACJUSTABLE SLIDE BRACKET ATTACHED

W/ (2) 1/4" x 1/2° BOLY & NUT PER BRACKET

P

. 3‘ x 20 GA. STRUTS
€1) PER SECTION ATTACHED WITH
@) 1/4° x 3/4° HEX HEAD UNIV, SCREWS
AT EATH STILE.
| 4

14 GA. GALV. STEEL
ROLLER HINGE ATTACHED
w/(8) 1/4° x 3/4

HEX HEAD SCREWS

INSTALLED IN (1) ONE SECTION OF THE 9° X 7° AND 8° X 8" MODEL 600 AND 3950 DOORS

)
GLAZING OPTION CROSS SECTION
TEST No. SBC-580-011 ON QCTOBER 12, 1995 INCLUDED GLASS WINDOWS IN THE DOOR BEING USED. THE
TEST PRESSURES WERE +48.4 PSF AND -54.7 PSF. BY COMPARISION, FOUR (4) WINDOWS MAY BE
MIN. 3/32° THICK SSB GLASS
PTIONAL Decra INSERTS
WITH UV PROTECTION
4
SECTION B—B OLDED INSIDE FRAME
- B

Dearaframe WINDOW FRAME

ﬁi UV PROTECTION

{10) #8 X 3/4°
AN HEAD SCREWS
AT EACH WINDOW FRAME

SPLICE TRACKS AT THIS LOCATION

BYRS BOTTOM
BRACKET ATTACHED
w/ (3) /47 x 3/4
HEX HEAD SCREWS

W/ (4) 1/4"-20 TRACK SPUCE BOLTS & NUTS
SECURE TO JAMB WITH (3) 5/16° DIA. x 1-3/4°
LAG BOLTS

BUILDING FLANS EXamingr

MAY 17 2001

- Building &Yoming, inspeciivg U= Jax., Fi
| My

2 cA. caBEVIEWED FOR
\v ATTACHED 7 OB /EGM PLIANCE.
TRACK mn%wmmbrﬂ.wu\zcm_. BON foR

license {a

NT, ALUM. EXTRUSION
W/ CONT. VINYL ASTRAGAL

A—A (SIDE_VIEW)

TRACK CONFIGURATION FOR 6'6" UP TO 8  TALL DOORS

8 |*|||.| m.xm_,:_:ﬂ_.
A hl“
i

JAMB BRACKET LOCATIONS

N.T.S. C\ N.T.S. /N\
WOOD JAMB ATTACHMENT TO STRUCTURE
A_V U\A_Ml DIA. x ‘lu\¥| RATED FTR 110 NPH FASTEST—MILE BASIC WIND SPEEUS
LAG BOLT ATTACHED TO JAMB
AT EA. JAMB BRACKET STER
STOP MOULDING oS YERTICAL JAWH ATTACHFNT TQ WODD FRAMF_STRUCTURE
sz& nmwmm.w_.m«mw.% XLER) 5/16° X 3° LAC SCREWS STARTING 8" FROM ENDS THEN 247 0.C.
VERTICAL JAMB ATTACHUENT T 2.000_PSl_CONCRETE
HILTI KWK BOLT 3/8" X 4" STARTING 8" FROM ENDS THEN 24" 0.C.
11 _ ML SLEEVE ANCHOR 3/8° X 2-3/4" STARTING 6° FROM ENDS THEN 24° O.C.
) - . UV..AVI / ITW/RANSET RED HEAD 3/8% X 3° STARTING 6° FROM ENDS THEN 24" 0.C.
+ $4— _&
== BE= VERTICAL N8 ATTAZMFNT TO G-90 BLOCK

HILR SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 8° FROM ENDS THEN 24° 0.C.
ITW/RANSET TAPCON 1/2° X 2-3/4" STARTING §" FRON ENDS, USE PAIRS OF
FASTENERS (3° APART) AT 247 0.C

7/16" DIA.
BOLT RETAINER

(1) PER ROLLER %AGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.

2 X 6 SOUTHERN YELLOW PINE

wo0s A BASC WND SPEED OF 110 MPH
2" GALV. STEEL TRACK Q. 7 OR PREPARATION oF NS BY OERS B DOOR CAN BE INSTALLED WITH 5 FEET OF DOORS WIOTH MODEL #600 STRATFORD
TRACK THICKNESS 063" (NO. 2 OR BETTER) INSIDE. THE EDGE STRP. MODEL $950 HERITAGE I
TRACK MOUNTING DETAIL € 15 MEAN ROOF HEIGHT AT ANY SLOPE = | mme W] o up TR BAAR
D. USE FACTOR OF 1.0 B [coawn PYey SBC—580-007-4
£ EXPOSURE RATING OF C TAE K R SE SHET ) @ |

A B C ] [ S %
6-6'| 4 pi-1/2'| 35 | 57° 70"
7°-0°| 4° Pi-1/2° 42’ 63 76"
76’ 4| 18° | 36 | 5S4 | 72" [ee]
8-0"| 4 pi-i72"| 39° | 57° | 75 lasq
MAX SIZE
g x8
SPECIFICATIONS AND NOTES
1. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED DESIGN LOADS
AND INSTAULED WITH STANDARDS AS SET FORTH BY DASMA +28.7 PSF
2. DOOR SECTIONS SHALL BE 25 GA. (.019°) NIN. ROLL FORMED =313 PSF
UGHT COMMERCIAL QUALITY, G—43 GALVANIZATION.
3. DOORS UPTO 7°0° HIGH CONSIST OF Mﬁw SECTIONS AS SHOWN. TEST LOADS
4. DOCRS UPTO £'0° HIGH CONSIST OF (5) SECTIONS AS SHOWN. +430 PF
5. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED —48.9 PSF
BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS
INDICATED ON THIS DRAWING IN ADOITION TO OTHER LOADINGS. _ HE _ I
6. THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE E{—

WTH THE PROCEDURE DESCRIBED IN ASTM E330—90Q, AND THE
SOUTHERN BUILDING CODE SECTION 1606 WIND LOAD DESIGN CRITERIA
THE PRESSURES SHOWN ON THE DRAWINGS WERE CALCULATED USING
THE FOLLOWNG PARANETERS:

SYR GIASTY CREEX VR VDOSTOR-SALEN, RC 200




